01 # = e o 2 — o &

S A A ‘i
(1) 7+ 8 = (18) 499 + 8 = (35) 630 — 7 =
(2) 9 + 4 = (19) 646 + 40 = (36) 176 — 9 =
(3) 16 +3 = (20) 526 + 58 = (37) 382 — 7 =
(4) 48 + 8 = (21) 803 + 69 = (38) 500 — 1 =
(5) 67 + 5 = (22) 299 + 20 = (39) 900 — 4 =
(6) 13 + 71 = (23) 429 + 85 = (40) 600 — 9 =
(7) 34 + 57 = (24) 785 + 29 = (41) 702 — 8 =
(8) 97 + 6 = (25) 189 + 66 = (42) 108 — 9 =
(9) 93 + 8 = (26) 6 — 5 = (43) 277 — 16 =
(10) 46 + 86 = (27) 38 — 6 = (44) 639 — 28 =
(11) 59 + 78 = (28) 50 — 3 = (45) 160 — 15 =
(12) 132 + 4 = (29) 34 — 7 = (46) 390 — 12 =
(13) 361 + 3 = (30) 79 — 45 = (47) 547 — 19 =
(14) 465 + 8 = (31) 50 — 16 = (48) 962 — 25 =
(15) 538 + 4 = (32) 85 — 38 = (49) 400 — 25 =
(16) 261 + 9 = (33) 671 — 1 = (50) 600 — 37 =

(17) 697 + 7 = (34) 750 — 8 = (#5540 ]
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